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Solar Swahen o Hersed

ORIECTIVES :

% To get a =snse of

Moz 2med thhe Esrth,.

# To simulats =alase
GRAQGES: & and‘up.

SCHEQULIMG ¢

Ficciaotts

- L

=kl W o S =

The relative zize and distances bketweon

2 lunsye eclipses.

Thiz lessor reauires one class pericd on & surey daes,

For each oprous

oF cho g

# Oz 3" diasmeter stvrofcosun baill

# Ome 204" dizmeter

—_—

¥ he 7 1527 lenath

white khaesd

cf =tring

#F Two 118" diamster, 2" lonhy dowsls

STULEWHT SHEET =
# Eclipses

OIscUuss ok s

Hold wup the =4

# I+ the Ezrth was

Fdtar hesrirg

Clazms that the Moon

roatoan kall. Aslk the class:s

Thise =ize what size wowld whe Moo bBe?

wodlcd ke thiz size. How =slos

# How -Fze~ apaer-t wowlad thew be?

Fazdit,  &fter hearing some smswesrs, $e2l1l +hs class the

2w iz ¥V 142 feet.

# How largye ancl bhow

faer would the Surm be? (The Sun would ke

same swrswers, hold up the beacd, ad tell e

| e Wt e
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Scolzr Swvetem A~ Herrdi Ficciobdo Les=arn 14 / . &

mos~E whaen 27 $eet in dizmster ., a2t 2 diztzwce of more thean hais

1]

2 owmile.s
FCTIYITY:
Tall the =tudernts that the dowsls will ke uzed to bhold the
spheres. Have them follaw the instructiconsz on thse =tudent
sheet. Help then answer the susstion=.
CORNCLUETIONS ¢
Lurind & Salar Eclipse:
# The Moor is MHew.
# The Moon’s shadow cousrs only & swmall area of the Ezeth,

- v

™ - - - - - - - am
SincE noEt pecEle are oot in

sxperigsrnce totkal eclipses

ot the Sun.

Cur-ivva & Lunaee Eclipses
® The Moor iz Fulil.
# It iz eclipsed a= lamg a= it i in the Ezeth s shadow.

# o You do mot have B0 ke sy peeilicular placs ko see & Luimse

2clipse —- Just lock ur a2t the Moo,
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Boize Sewstem A Herweil Picociatta StuddEnt’ 2 Sihesets
T - S
I this sctivite,. e Fzetiv 2z She Moon mill ke
rrewresented by spepheites o The sppropriate sizes. Beld o thin

cdomals to szch other mith an

i

clomels by two pecrie. Tis h
sprogntishs lsrgth oFf string. (See Figures 1 sl 2.0 For e
Sur . use cthe real Sun, 2

SQLAR ECLIFSE :

Critg 2 =clar sclirss . the Moon'™s shedow falls cmbs thhe

Earth. Use vour model o showm Hhis. sz s bo z;swer the

FoMhat phees s the Moon in durins & solse eclipze

-

# Hotice the =ize of the Moon s shadow., Foe psamwle who ar-e

standing in the shadow. the Sun is completels hidder ke e

Moo, Thiz ig calied a total eclipse o fhe Sum. The e o

Ezeth auwer which the Moom's sheadow passes is callaed the “pats
cof hokalite”. Explain why most pecple do mobt ses 2 totad

ih

eclip=

Drrivg 5 lunmar sclipss . the Eardl's shodow $Falis cmds bive

Moo, UEs wour moddel to shom $Ris . 2ngd e Be zesmer dhe

syestions.

# Mhat phese iz the (oo cdigrine 2 lume sclipss’

¥ Hotice the gize of Hhe Earth's shadowm., 141 covers i ares

aester than that of the Moo, Explain wie 2 lumze sclipze

a

p—

Lo

aztzs longer than & =olz- sclipse.
F; Explain why . swverwvbods wieg cay see the Moo can ses & lunae

eclipss.
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